vaz7H—Fybd V¥INSL) 4B3H
K 4 i B | 952 | 8l | EF | 1XBSMA 2KBAaM L G524 L | NELL
& -F | REEES K2 = 54 49.67 47.80 1.37.47 1
HHE BE | pEsE® K2 z 51 49.54 49.99 1.39.53 2
= = wEER$ K2 = 53 56.84 56.79 1.53.67 3
BN X7t HAH K2 Z 52 1.00.31 57.42 1.57.73 4
BRER {Ema wW it K2 kg 55 59.55 1.01.10 2.00.65 5
BHE =S iz K2 x 56 55.35 1.14.44 2.09.79 6
g+ EE | wEsE® K2 5 62 46.46 4584 1.32.30 1
INERIR K| #dzild K2 2 61 46.93 46.93 1.33.86 2
BT Xt | wEsREH K2 5 64 48.58 49.41 1.37.99 3
Rig & wEERR K2 2 63 50.17 48.37 1.38.54 4
BiR F@ Al K2 E 65 DS
BE =5 LIRISC K1 x 75 57.35 57.54 1.54.89 1
HWE ZiR I K1 © 74 1.00.96 1.01.35 2.02.31 2
wiE 2 | pasREdkN K1 x 72 1.05.67 1.06.18 2.11.85 3
TH F4E | wEsFREN| K z" 73 1.09.67 1.08.96 2.18.63 4
wRE ik | wEsFEItn, K1 x 71 1.09.97 1.10.34 2.20.31 5
Ik Bt EIEad) K1 £ 81 53.32 53.74 1.47.06 1
=B RiE HEHE/N K1 2 83 59.43 DQ
£ K | wEsEEN | K ) 84 1.03.60 DQ
M MR | wEsREEN| K 8 82 1.17.95 DQ
ME =it TN K1 3 85 DS
TR B THREN K1 £ 86 DS
EiE A TRIFN K1 5 87 DS
Al A% FiF Kids = 92 1.00.36 1.00.85 2.01.21 1
BE =it FiF Kids = 94 1.06.24 1.07.16 2.13.40 2
k| CEE| wEBRIN | Kids E:S 91 1.14.54 1.16.53 2.31.07 3
BAIR Emx ELIHN Kids = 93 DS
BE BF RIFISC Kids = 95 DS
& ¥ |WEsEE/AN| Kids 8 101 59.21 59.85 1.59.06 1
RE $F [ERa= TN Kids £ 106 1.04.55 1.03.52 2.08.07 2
'S EA RIEJISC Kids 2] 115 1.04.30 1.03.97 2.08.27 3
e HE | wEsFEId/d | Kids 2 107 1.06.64 1.04.44 2.11.08 4
= R BE&E Kids 2] 102 1.12.53 1.12.07 2.24.60 5
R 5 | pasREdEk/DN | Kids 2] 110 1.02.32 DQ
WA #w3 | pEsRded | Kids 2] 108 1.03.75 DQ
KB EX | whEmFEmEN | Kids 2] 109 1.09.18 DQ
BER BEX Rihs Kids 2] 103 1.09.27 DQ
£ iR KENN Kids E:) 104 1.10.63 DQ
M RAR| BEsRmE/N | Kids 2] 111 1.15.25 DQ
TTH R wEEEmE/A | Kids 2] 112 1.21.27 DQ
iy BEAR hEsRm/N | Kids 2] 113 1.24.20 DQ
K EZ | whEEEmEN | Kids 2] 105 1.40.01 DQ
ol EE HF/N Kids 5 114 DS




